A A2 2RAAYRI0F 2R 18- ek py-xaP=ipgud

FrRIERIRFRBREIRE L - FLe I Wi

-~ ERWEHILS X 404)
1L ) 567 Afdsaxb> B9 g b3og v e PIT 78— B2 ¥ i & a+b g ?

(A)57 (B)30 (C)28 (D)I15

2( ) Tl R
(A)1+29+37 (B)23-47-~91 (C)37-59-97 (D)67 7387

57

Lir
o

3.( )T’M“ﬁ’ﬁ
3 4
(A) Sm.i.gh 5 B)0RF ¥ (C) —1enimsc: —1 (D)2 iE#k: 23

4( ) Tl K LA
(A) (—5)3=—5°
(B) 6%6’°=6’
(€) (—11)>115=(—11)7
(D) (=3)*+(=3)*=(-3)°

S( ) Tl F A ?
(A) Ka b i }fﬁﬂ Fo 2 a~b3vA 11 ni g Rlatb» L 11 hig o
B) Fa~bI3IF Rlayb- T fin-\?‘rﬁxo
(C) Fa~bitpEenilic Mla~bed~ 2F I 1o
(D) Fa ~b it Fl Pla~b s+ 2T 1-

6.( ) FAG-dio T A=25XTO114 RIT SIS ¢ A T ol i K LA R ?
(A) 2°x5 (B) 7°x11° (C) 2*x7%x11* (D) 2°x7°x11°

1 1 )
7.( ) —25—435’1’7@:{\71 F|R— B E N Ap g Q
(A)2+5+4+3 (B)—2—35-4—3 (O—2-35+4+3 (D)2—5+4—3

8B( ) eirwiBg  LEE REEAUNE A 2013 % 22014 & 2016 £ Eyre FiEZ B § o
B ByE- o PSR Z NEH § 073 A F|- kR ye?
(A) & = 2051 & (B) & =~ 2052 & (C) & = 2053 & (D) & = 2054 &

9.
( )H\a~ﬁ,‘;w‘r SE XY 212000 PR IR ATHE o H Y

SHEEAR 10 A AEETR ‘”I} BERAR L 204
L oL EFRART A BATH W“—?#&%% 1 248
Bomdgdr 127 83TR SREBFHAL 34
ZRSTR ST BRERR A RS L?
(A)12:30 (B)13:00 (C)13:30 (D)14:00

TR AY  RF

%17 > £ 3 F



10 ) ¢ 4ra=—

1

5 6 7 J 712 Nz 5@ X
123 b=z = 3 AT IR AL B R Y

(A) | a+b+c| @B |a—b+c| (©)]|at+tb—c| D) |a—b—c|

f 663 ~ 1545 ~ 15642 ~ 217492 ~ 9090906 T B F#ic® > 2 énizdict a B > 3 eniddicd b B > 5B HT ¢
11 chidcd d B> Blatbtetd= .

2. & (27,(36,54)) = o

3. + Bl J*fi“,fié,ﬁﬂ:;ﬁ;:&lz\lf;ﬁvﬁm’ O FlfeifAz o 2| 8 12 18
fi* migid > Sz feehbo) 2 RS ° 4 6 9

4. © b a=23xT2 0 hb=22x3xT5 *’Ea Ei —2XT s Bl x+yfz= :

. 2.6 b _

5. ?_S_a__35, EIJ a+b_ °
e 19 10 L

6. B2 5L 66 ki A Etﬁ%:‘—ﬁ'—fi’—ﬁaﬁﬁ*’ﬂ'lﬁ“/n B s o

7.9 s o A D EH T =54 2 (9 ,2)=6>[",2]=270 Bl = g

8. a~b¥ A1 #?® a>b> % (a,b) =1 (a,b) =2°x3% pla—b=
g 3N A TS, =6 —l6

9-P-n(2>x<3>x(4)x<5)x ------ X(15>_ °

3 3 3

10. 3+ 8 (—27 )><9 +(—22 3)X97 —(—13)x97 = .

UL L8412 § 2 ehd pRs - B CHRnRAR > 2 A AR DR B F A B e 0 LR
BEHEApE > TEEF TR (bl 2P F 580 15 > BB8H3HSfr  I5H 28 134
Foo B R-3-5-2134p3KF BB 5 0390) 0 & Fo ] Benpgg 5 20300 P # A4 4 Tip e

12, BoEA 3R> - FHIR 10 2 S ff- $> ¥ - 3 F R 8 2 ¢ fi— v Behd Sa0fE o © Srip et L
4 324% 0 plE R L BT e oo

. ) 1 11 A
13. 4ot ] > B L A& 7 1 3] 5 PREdE > Ay Fo01 5 I| 3 RESEL L A A
L i |
g g o B A+ Ayt As+ ..+ A= o : 1 1 i
54 3 2
R M

527 > 231



‘n%

D4 - B
Z 3T
15, © SepbrhiE £ irib 4 4 R

A

~ T \,:5 - TR E o Es W H. 202435 =
| 2_7~18~14 = » R

T & T
ST A Z RRE L g MO A

= %*-‘EHE(—,"—I 15 A.\)
L3k —or—

(253 8&Mar 334
3 N

i 2

PE (=) 5 (S (=) (=) (4
@ FEG -
£2)0T Bl B OE R

E %
5180 2 & ~200 = 240

) eryfﬁ mﬁj—ﬁx

SF o F M AMEARRSERE > BRI F OF Y FARY R
B 2 AP B2 B S R 2 R R ApE - vz £
%

r

AR aEIJ
/I)/\

29 2A)
)

e

fuh

\Eﬂt l é—
‘\§]§ S

7,*“1
il

|

<L
FIERY
1
B B R IS0 L RET RNy S
mORIZEEAD BARER T (54

AR R

¥3F -2 3 F



(A B R I0F RS 18- e FPr -2 Ph=i8 85

$r 23 ELRLEE o EENC R B LEae
- ERWELAL £ A0R)
1 2 3 4 5 6 7 8 9 10
I BRAEE RIS K45
1 2 3 4 5
6 7 8 9 10
11 12 13 14 15
o PR 154) [RF3#EER S 4]
21 5 l Z Z l § \ 21 F A2 - _22 _3 0 - 2 N\
1. ‘&J."E'"_94_3X[8_ (2—4)]0 3 %) 2. 38 (—4%)+( 3>X( E>+( 3) (3 %)
3. B EFARG - M= &0 F > 50 R M4 4 - BaEE £ 15648 ] e 4 g_grsﬁni 3
RBERT REISF SN FAMY R ,
bz BB RO RS A A AR AR FREAFIT D3> 13 2 2 LA AT f
B2 BB R 3 e L ApE o 2 oz 2350 34 k- o
T R A s N 7 R ~
Bl £ A5l 5 180 2 € 200 2 ¢ 240 2 ¢ 5 ] : TR LD EATPREET G )
(1) & Ptz B erpedgd  £.5 5 2 2 24)

) “AE R F AR 2 24A)




EFAF BRI FI0FERY 1P - 2oBFPy -2 hi=T 8% ¥

F* 23 ERLIEE o FL% B e
-~ EEHBWEWIL X 404)
1 2 3 4 6 7 8 9 10
C C D A C B A D B
SN BARERIA L 450)
1 2 3 4 5
11 54 72 6 —1
6 7 8 9 10
59
T 30 5 8 78
11 12 13 14 15
10 2
- = z > >9
12 1240 T 5 K

IR EEE 154) (R B 3 +4)

—G-P)e ()

W b
X
—/
o0 |

=

7
X <§_

X

e L S e
WIN WM

|

|
[
o
~
[
&

)

2 35 (—4) (=) (= 230 3 4)

4
=—16+gx149 (1 &)

9
=—165x149 (1 &)

——3649=—27 (1 4)

3. WIHLFM S - M= LA NF 0 5 S BHE A
RESLRB BRI F 2Ry RS - RE
Bz & B NOE R R A OfEA 2 AP MG R
B2 AR R R R A S o 2 drz £
Flif £ 4 55 180 2 8 ~200 2 & ~240 2 ¢ > py ¢
(1) & P fif2 B epedpd < 5520 2 24)
2) TR 27 2 4)

e

(1) (180,200,240)=20 (2 4")

(2) 180+20=9
200+20=10
240+20=12
9+10+12—3=28(xF —3 4= 1 )

& (120 ==
(2)28 %

&

¢

1
4. 5 - %‘7}%3‘ ’-J'—”fi 1563E’/j~‘¥@_§1 iggﬁqz %3

)’

2
o RBEAFIT O3S I 2P £ AR

ToeaRRAe o PP P £ 4T BIEEE? &)

1
| 156x7 43 (14)

=42 (1 4)

2
PR (156—42)x3 —1 (1 4)
=75 (1 4)

# 0 156—42—75=39 (1 4) ¥ :393f







